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6  中 考試卷 ___年 ___班 座號：___ 姓名：__________

一、畫畫看，做做看
1. (本題畫法略)
2. (本題畫法略)
3. (本題畫法略)
4. (本題畫法略)
5. (本題畫法略)
6. (本題畫法略)
7. (本題畫法略)
8. (本題畫法略)
9. (本題畫法略)
二、計算題
1. 12.276
詳解：驗算12.276×5＝61.38
2. 0.625
3. (1)1.2  (2)2.4  (3)1.9
4. 0.57
5. 33.62
詳解：驗算33.62×6＝201.72
6. 0.265
詳解：驗算0.265×8＝2.12
7. 1.425
詳解：驗算1.425×8＝11.4
8. 0.525
9. 3.125
10. 0.88
11. 11.45
詳解：驗算11.45×4＝45.8
12. 0.73
13. (1)1.12  (2)1.5  (3)1.6
14. 0.02
15. 4.75
16. (1)3.75  (2)2.64  (3)5.75
17. 12.21
18. 15.04
詳解：驗算15.04×7＝105.28
19. 15.625
20. 6.625
三、應用題
1. 1 EQ \F(24,32) 公斤(或 EQ \F(56,32) 公斤)、1.75公斤
詳解：56÷32＝ EQ \F(56,32) ＝1 EQ \F(24,32) ＝1.75
2. 1.575公斤
詳解：12.6÷8＝1.575
3. 8.875公升
詳解：142÷16＝8.875
4. 38.875公斤
詳解：622÷16＝38.875
5. 1.025公斤
詳解：11.275÷11＝1.025
6. 1.72公里
詳解：8.6÷5＝1.72
7. 9.88公里
詳解：49.4÷5＝9.88
8. 11.25公尺
詳解：45÷4＝11.25
9. 14.85公升
詳解：29.7÷2＝14.85
10. 1.5公斤
詳解：兩個星期是14天
21÷14＝1.5 
11. 28.25公分
詳解：113÷4＝28.25
12. 0.48公斤
詳解：2.88÷6＝0.48
13. 1 EQ \F(8,32) 公斤(或 EQ \F(40,32) 公斤)、1.25公斤
詳解：40÷32＝ EQ \F(40,32) ＝1 EQ \F(8,32) ＝1.25
14. 11.405公斤
詳解：45.62÷4＝11.405
15. 3.025公斤
詳解：15.125÷5＝3.025
16. 6 EQ \F(10,25) 公尺(或 EQ \F(160,25) 公尺)、6.4公尺
詳解：160÷25＝ EQ \F(160,25) ＝6 EQ \F(10,25) ＝6.4
17. 1 EQ \F(14,16) 個(或 EQ \F(30,16) 個)、1.875個
詳解：30÷16＝ EQ \F(30,16) ＝1 EQ \F(14,16) ＝1.875
18. 8.85元
詳解：35.4÷4＝8.85
19. 2.24公斤
詳解：17.92÷8＝2.24
20. 2.125公斤
詳解：51÷24＝2.125
四、選擇題
1. 1
2. 3
3. 3
4. 2
5. 3
6. 2
7. 3
8. 3
9. 1
10. 4
11. 1
12. 2
13. 4
14. 2
15. 1
16. 2
17. 3
五、填填看
1. (1) EQ \F(5,100)  (2) EQ \F(12,100)  (3) EQ \F(38,100)
2. 5.05，0.505
3. 2.05，20.5，0.205
4. 0.4，0.04
5. 0.13，0.19，0.27，0.33，0.39
6. 0.8，0.08，0.008
7. 假分數： EQ \F(22,10) ， EQ \F(28,10) ， EQ \F(36,10) ， EQ \F(42,10) ， EQ \F(48,10) 
帶分數：2 EQ \F(2,10) ，2 EQ \F(8,10) ，3 EQ \F(6,10) ，4 EQ \F(2,10) ，4 EQ \F(8,10) 
8. 假分數： EQ \F(10,6) ， EQ \F(17,6) ， EQ \F(21,6) 
帶分數：1 EQ \F(4,6) ，2 EQ \F(5,6) ，3 EQ \F(3,6) 
9. 1.12，1.18，1.26，1.32，1.38
10. 2.12，2.18，2.26，2.32，2.38
11. 5
12. 假分數： EQ \F(13,10) ， EQ \F(19,10) ， EQ \F(27,10) ， EQ \F(33,10) ， EQ \F(39,10) 
帶分數：1 EQ \F(3,10) ，1 EQ \F(9,10) ，2 EQ \F(7,10) ，3 EQ \F(3,10) ，3 EQ \F(9,10) 
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